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A8 10/6 | 10/13 | 10/20 | 11/3 | 11/10 | 11/17 | 11/24 | 12/14 | 12/15 | 1/19 | 1/25 | 1/26 | 2/2 | 2/9 | 2/16 | 2/23 | 3/2 | 3/8 | 3/9 | 3/16 | 3/23 | 1/0 1/0
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M2B—1 STANCE stgh-+ L 2 L 2 L 2 L 4 L 2
M2B—2| BLTZ stgh-+ L 2 L 2 L 2 L 4 L 2
M2B—3| %35 g+ | & L 2 L 4 L 4 L 2
M2B—4 FAKE'S g+ | & L 2 L 2 L 4 2
M2B—5| HEAEKA stgh-+ L 2 L 2 L 4 L 4 2
M2B—6 |  stark psi v * * * L 4 L 2
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7 2 3 4 5 6 7 8 9 70 11 12 13 4 15 16 17 18 19 20 21 0 0
AR 10/6 | 10/13 | 10/20 | 11/3 | 11710 | 11/17 | 11/24 | 12/14 | 12/15 | 1/19 | 1/25 | 1/26 | 2/2 2/9 | 2/16 | 2/23 | 3/2 3/8 3/9 | 3/16 | 3/23 | 1/0 1/0
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7| M1A=7 J7—ARTL—H—X tEh—p L 4 L 4 ¢ L 4 L 4 *
2 [ s1A—2 FAST BREAKERSY =7 SEA-1 * * * *
1| M2A—1 SCRATCH SHEEH—F L 4 L 4 L 4 L 4 *
3| s1A—-3 BREL=F SHEEH—F L 4 L 4 * *
WEZE:
3 | M2A—3 Bears stEEh— * * * ¢ ¢
1] s1a—1 BearsY2 sEih— * * * * *
5 | M2A—5 J-Club tEh—p L 4 * L 4 L 4 L 4
5| s1A—8 J-Club> =7 SHEH—F L 4 L 4 L 4 L 4 L 4
3| M2B—3 HPH35 *Eh-+ | @ L 4 L 4 L 4 L 4
5| s1A-5 HOHY=TF tEh—p L 4 L 4 L 4 L 4
6 [ M2A—6 <{BhMa SHEH—F L 4 L 4 L 4 L 4 L 4
5| S1A—6 LY —TI(RVZT SHEH—F * L 4 L 4 L 4
3 | M3A—3 isolation *Eh-+ | @ * L 4 L 4 L 4 L 4
5| sS1A—7 HIHAV=T SHEH—F * * L 4 L 4
5| F1A—5 S ) *Eh-+ | @ L 4 L 4 L 4 L 4 L 4
2| T1A-2 AHHI=T StEEh—b * *
4| F2A—4 Splash R H—F * * * * L 4
1] T1A=1 Splash =7 SHEh—F * ¢




